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Directions: Use both the front and back of the paper for your solutions. You may attach more sheets if
necessary

Consider the partial differential equation
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where u(z,y) is an unknown function. There are infinitely many solutions.

1) (1 point) Is this PDE linear or nonlinear? >
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3) (6 points) Find all solutions u(z,y) to this PDE using the method of characteristic curves, and in addition
write a particular solution down (just pick one).
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place more work here
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4) (2 points) Determine the fundamental period of the function
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5) (3 points) Determine if the following function is piecewise continuous, piecewise smooth, or neither on the
interval [—5,5]. Draw a graph of the function (3 more points).
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6) (6 points) Derive the Fourier series and draw the graph (another 2 points) for the function
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(hint: most of the integrals were done in problem 6)
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put more work here




8) (6 points) Find the Fourier series of the following function (use the compler exponential form of the :
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put more work here




